RACE
APPLICATION
ONLY

878

2017 NISSAN TITAN XD 5.0L v8
4" DOWNPIPE BACK SYSTEM

o 22715
ﬁ 22716

<

22712

22713 6185 f

0 1-22712(6-1) 2- 7/16 X 1 1/2” Bolt

[ 1-22713(6-1) 2- 7/16 Flanged Nut ~7

0 1-6185 1- 3/8 X 1 1/2” Bolt

0 1-22715(6A-1) 1- 3/8 Flanged Nut PERFORMANCE EXHAUST
O 1-22716(6A-1)

O 4-L.J400

PICKED BY:




